@ 55

usH

LS ER ORL=@X|M/X|QCH] "7HAD|ZIM7|" 3t3HB2) &7

L3 HEZR 5]H|0kM, X|QCHM, Z0j|o] X|sH OJEHM "S|H|OF(A10 / A14) 7
C3 HER RAIZEM ARICIR'(SH &7) 5tAt =2 52
JR'RERESIX £2 88

olefolct 2] stao e
s
5140 e
EESE
AR B3
L PP 2%
oL Ms«
L s o
T — g
z ki
i PR
3ltjop =]

b=o| 7|__|.L 0|.0||:|().| o= ZAE T 2HWE

OISFAE =0| =4 wgls
in LALX| 2%
2025 1.27@en~ 3.2
. T 9:00~16:30

(FARX| 2E 7HY Alztol =8

4 xAbsle onfx|Lick

RAlet LHE&2 of7]

OftH &A= 3[H|OF SR =0| 7|7 OlOIC|0] S5 HE Z2HME H i O|HIEYL|CE
1/27~3/2 7|2t SOt QIZRAIE =0] =7 A[He

=

>
50
Arl

= oHH =2{otM o|HE SEHFMR.



